Sk Ak,

Sealey

Suffolk.

Sole UK Distributor,

Group,

Bury St. Edmunds,

HAMMER DRILL
Model: SDE850.V4

Issue: 1
Date: 061102

NOTE: It is our policy to continually
improve products and as such we reserve
the right to alter data, specifications and
component parts without prior notice.

Item Part No.
1 332-130179015
2 332-134459025
3 332-131789133
4 332-763346061
5 332-138315001
6 332-130054181
7 332-101204231
8 CS 2.5M2CBLK
9 332-131789071
332-130131601
332-130833851
332-131708341
332-131781011
332-130843011
332-131783023
332-757001520
332-135261861
B-6202-2RS

332-875101015
332-130133121

Description

Motor cover

Field 230V 900W
Armature 230V
Electrical Switch
Condenser

Sleeve

Cable fastening clamp
Power lead

Carbon brush
Rubber ring

Cover supplement
Plate, complete
Headstock

Chuck spindle
Chuck spindle wheel
Spring

Obturating ring

Ball bearing 6202-2RS
Safety ring DIN 471
Bearing cover

Item Part No.
23 332-138291551
24 332-713721080
26 B-608z2z

27 B-6072Z

28A 332-844810132
28B 332-844810129
29 332-844800026
30 332-844800050
31 332-131788511
332-849131214
332-131784611
332-742100715
332-713900210
332-130443542
332-852405251
332-131783061
332-130838871
332-130833111
332-130844611
332-742101215

Description

Joint ring OR 60x4
Needle Bush HK0810
Ball bearing 608-ZZTN9
Ball bearing 607-ZZ
Screw 5x45 TP T13-2RE
Screw

Screw 3,5X12 TP
Screw 4x20 TP
Intermediate gear group
Screw

Shifter

Joint

Ball 5,5 DIN 5401
Spindle coupling

Rod

Intermediate wheel
Shifter

Axe plate

Lever

Joint ring OR 12x1,5

46
47
48
49
50
51
52
53
54

Item Part No.

332-830503309
332-875401120
332-742031523
332-130841311

332-131783592
332-752000200
332-844800028
332-870811528
332-130823131
332-713920730
332-131789111

332-134312251
332-847305950
332-849081250
332-130171741
332-130061062
332-138342181
332-870801224
332-130171311

Description

Rod guide

Brush holder support
Obturating ring

Cover

Needle bushing

Spring

Screw

Obturating disc

Pivot

Bushing 4x25,8 DIN5402
Brush holder

Spring brush

Screw M6 left T13-2RE
Screw M4x10

Upper cover

Handle cover

Needle bushing armature
Washer

Ball bearing cover

| 01284 757500

01284 703534

. sales@sealey.co.uk @b www.sealey.co.uk




